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 Multiplying Double Digit Integers

Solve the integer multiplication problems

12 -15x = 66 -12x = 40 -17x =

-22 25x = -33 11x = -20 -20x =

-34 -17x = -25 19x = -45 14x =

-14 11x = -36 -22x = 48 -12x =

-31 -15x = 54 -10x = -55 -12x =

8 -13x = -35 18x = -42 -23x =

-33 13x = -26 -10x = -20 42x =

-25 25x = -32 -19x = 41 -11x =

12 -12x = -23 21x = -60 -12x =

-17 -17x = -50 -13x = -61 14x =



Answers

Solve the integer multiplication problems

12 -15x = -180 66 -12x = -792 40 -17x = -680

-22 25x = -550 -33 11x = -363 -20 -20x = 400

-34 -17x = 578 -25 19x = -475 -45 14x = -630

-14 11x = -154 -36 -22x = 792 48 -12x = -576

-31 -15x = 465 54 -10x = -540 -55 -12x = 660

8 -13x = -104 -35 18x = -630 -42 -23x = 966

-33 13x = -429 -26 -10x = 260 -20 42x = -840

-25 25x = -625 -32 -19x = 608 41 -11x = -451

12 -12x = -144 -23 21x = -483 -60 -12x = 720

-17 -17x = 289 -50 -13x = 650 -61 14x = -854


